00001 (000000,20130000, 4M/4E)
0300000 (090 (20130 110 220)00)

goobooo: go:

00000 1000050000.0000 250.

00 1. 000000000000000000. 2. 00000000000 (sin000000
0,0000000000,80 2/2000,00)000000.3.000000,00000
oooo.

00 1. 000 2v2ei™ ooooo.

00 2. 000000 a+bi(e,b000)00000.
(1) (1+4)° (2) log(~2)

00 3.000 2*=-16000.000,00 a+¥i(e,b000)0000000.

00 4. z=2+yi 000 f(2) = (-2zy+z)+i(2?—y?+y) 00000000 (Cauchy-Riemann
0000000)0000.00,00000000,0000000.

00 5. 00 u(z,y)=22—4? 0000000000000, u(z,y) 000000000000
O f(z) =u(x,y) +iv(z,y) DOODODODO.
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